x=1-V3i & o], 2 -2x+1 9 Zt2?

@ -2 ® 0 1 ® 3

-3




DO 1+ @)2+i ® 2+2i

z=a+bi & stHz=a-bi o|EZ
(1-2i)(a+bi)—i(a—bi)=a+bi—2ai+2b—ai-b
=(a+b)+ (-3a+b)i=3-5i

et a4+ b=3,-3a+b=-5°|2& AYslo] ZH
a=2,b=1

wbA] z =2+ ot




APPAA X - 110 430 = 09 U] 2 % 7P 2 22 0, 7P 2
T2 peh e, a2 4 20 2

@ 8 @9 @ @ou G

B ~
x-11x24+30=0

(x2=5)(x2-6) =0

. ox = +V5, x=+V6

AL La=-V6, 7P EZb=+V6

LA+t =6+6=12




4-3i

=4-3i+4i+

=4+

® 1+3i

=

® 4i

+

i—

S gy
l

—345i 2

1+i 1-i

3-5i-3+5i 2
1+i 11—
2(1+1)

(T-9(1+39)

2(1 + 1)

1+1

1+

=4+4+i-1-i=3




ohg 34 9] 87} obd 212

(x> +x)2-8(x*+x)+12=0

-3 @2 @1 @1 ® 2

B

(¥ +x)2-8(x2+x) +12=0 A x* + x= X =} 5}H
X?2-8X+12=0, (X-2)(X-6)=0
L X=2EEX=6
(i) X=2<4d, ¥+ x=20]A
2+x-2=0,
(x-1)(x+2)=0
Lx=1%=x=-2
(i) X=6<% o, x>+ x =6 A
¥ +x-6=0,
(x+3)(x-2)=0
Lx=-3FEx=2
(1), (ii)°llA Folx A A9 ol =
x=3E=Ex="2FEEx=1F=x=2
w2hA, szt obd A2 ®




6.

AFA x4 B —x—1=09] F 8] 2% a, B T 1, 0

7} 3ol 2 A2

@ a+1 @ a-2

1
100 4

ﬂlOO

B

A+ -x-1=0

Bx+1)-(x+1)=0

(x+1)(x*-1)=0

> (x+)x-1)*+x+1)=0

X +x+1=09F 2o a,p

nat=1=10+8=-108=1
1 1

QIOO+W _ (a3)33a+m

1_of+1_

il 2
B B B




7.

==

T2 o 7F A A A8 - 3x+1 =09 T 2L 1, 02 -2
A o] £& H ol Zolt}, (Fh)~(uh) o] Eold Ha 2% &

H

o] g

A7

rlo

= -3x+1=09 Zo|B& (7}

f(x) =x%-3x+1 o]ztal oA
fla®~2) = (th) = () = (2 = (v =0
webA, o2 -2 & AP A x4 1= 0 9] Tolth

D () a®-3a+1=

@ (W) (@® -2 -3(*-2)+1
® (t}) @ - 6a* +9a% - 1

@ () (@3 -3a+1)(a®-3a-1)
Gho-2

18

a=x3-3x+1=09 ZOE2 ? -3 +1=0

f(x)—x -3x+10]2tL 51 f(a?-2) = (a®-2)3-3(a?-2)+1
=a-6a*+9a?-1= (a®-3a+1)(a®-3a-1)=0-(-2)=0
TehA o? - 2% AAPYAE A x° - 3x+1 =09 Zolt




Q@ z+2 O z © (z-2)?
ORQ) @ 0.0
3)9.0.© ® 9.0.0.©
©®0.0.0,..0

&8 \

z=a+bi kSt = z=a-bi
Dz+z2=2a

© 2z = (a + bi)(a - bi) = a® + b?
© (z-2)% = (2bi)? = -4b?

1 1  a-bi a+bi  —2bi
@E_g_a2+b2_a2+b2_a2+b2

z _ (a-bi)?

7 a+b?




AR 3 —2x2 —dx + k = 0 9] Al @By © D5t (o +
BB +Y)(y +a)=apyS W= 4 ko] re F5PA?

a+B+y=2 aB+Py+ya=-4, afy=—k B
a+B=2-y,B+y=2-a, y+a=2-8

Zo]7 A2 (2-a)(2-B)(2—y) = By

s 8—4(a+B+7y)+2(aB+ Py + ya) - aBy = aBy
5 8-8-8+k=—k

k=4




